D WES (m Ne

W) 2 WFL Cewls
b) F:rf} I:é J:é':) F=10TF:Z
¢) F= 3, or F=13/

= ,) S ("'NL) jyqp - 22 0423

£)  pE= 10 2 Z__= e
- >[11M) ?L ZJM; 2 [2.2:61/(33)]

é,z'gcg = 11 4p2 M

4E = 330
- w323
ot) /‘“‘3 —_— . ‘o) do Cu.p . Goloace QL‘(uJM
" wa5z-D . .
A ,"\ n __ LY 7S GRS o/‘aa-\-wsw.,%/
| — . = Doppla -sbqd of bt s(geoiuse odonng,
g(]\” 2 ——-—'Hf:i C,)hf —.7\ LNZUNLD __7h ';\-;
S == WL
N - . TE == e _ G54
B=0 B g S
‘) gnce < ou(o-u«,s r(OLoL\,GC's/L l~\._—$
At ,<£n?§)3—Lw?5;)§2————Q‘——u~TCMW 7—(&L( éc(t% (0“)/}1/ VAT =
(g By (Goimi g RS | 2> 2 Level cysloan
S/ A N L A 2 06T
= M B ?) Xzyt-3¢ o= =Y o 20°
5 [ WA TEWS

I 056 o\
=TT (TR
_00 - : Pop{)(u‘glﬂi(»‘:
-2 - zve: Bs ¢ . - Vv, W V
‘[)V"t > a2 0000- %y /ATS&- b \7(,‘2._‘ =5 %:‘ —TM&‘

( QA8%S e o
— A% - &IIALLI’, m
Laid A3
k) F L Gvel gyslon, b oous -

g2 L =D ==Y

T zwm—ﬁﬂtrmfm?—wﬁ—vw ot peSguamce—arilbe ——

Ll lasn > Jlay wu-ck‘f Gt pudedd Cack . I
Yo 5~ (A_&L\" »LL& (aso bas {o Ge OLLL‘LMOL -5 o PoSQuw occuls,

B




A
(DL"O.‘F‘(‘?P "g SSQV
AF('L$>QD)_ A.9SeV
AE(LS M) 3. 3%ev
T

__@ Ok) E(ag)= -136ev -
€ (2p) = -3.5%av

=>

2T S G T 402 5)
CC“A—%'_——-G"

E(B‘)}:-A.C"Sea/
(p) E=-1%6e V- 2&
MM-(‘PC[\.UO.
A
A Usp) => cia,}afzg
) ”’?o R R A
T T ) ':Z
[y
%
O () > *S,,"'p, "2, %0 P
*p, 32, %2 D 3,
1 = —t> )
4 — \
Y=C7% %z"a%oé* /)’Sﬂm

Deylda=0 = = 7—

IVOYM«Q[,; foM /}f 2&_ Ql42=-‘!/
0 % ke L YT e a X
- 2 e 3 o - 2 ' 2
b)) E-AE(E) E=i @)
) W= vlx) = <> #0 !
ars3
CO AE‘,"% f Oc')zz—)z—)(dx Coqéx’é(/fmZX]
—ary a/3
= ‘E fé (lf-co)" )()O(X"‘j (x+ imﬁ )/
= of 4 ﬁ —_ 0
A E q€31 117/) s |
dE,:;“f Wl%'xdx I N (BN
ot/ 3 J\ | Q/j
s £0e g )




